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Background events : types and timings
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ds and z, Resolution : With vs. Without Background

* Key Metrics:
do : Transverse impact parameter resolution. Entries : 10000
Zo : Longitudinal impact parameter resolution. ’
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» There is no noticeable degradation in the resolution of do and z. at polar angles of 85° and 20° across
the momentum range from 0.1 to 100 GeV.



do and z, Resolution : With vs. Without Background

geometry option ="TDR_01_v01/TDR_o1_v01-onlyTracker-NonuniformField.xml"
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+ For Z,, the resolution with background mixing is slightly better than that without background.



do and zo» Resolution : NonuniformField vs.
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The resolution is relatively worse under the NonuniformField condition.



Backup

Entries

with beam-BG (Pair Production :250829)
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Backup

with beam-BG (Pair Production :250829)
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